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Competency : Problem Solving Ability
A. Complete the table and answer the questions below

sl.no | name of the plant | last months | this months | cms-grown

height height

1 TULSI s5cm 8cm

2 MANGO 10cm 13cm

3 BAMBOO 20cm 38cm

4 ROSE 32cm 32cm

a. The plant which has grown maximum is
b. The plant which has grown minimum is

c. The plant which has not grown

d. The plant which has grown by 18cm is

e. This month

plant is taller than

b. Read the following table and answer the following question

SL.NO | NAMES DISTANCE OF SIXES BEATENIN A CRICKET MATCH
1 SACHIN 90m

2 YUVARAJ 101m 5cm

3 GAMBHIR 52m 25¢cm

a. What is the difference between the distance hit by Sachin and Yuvaraj?
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